C1 Temperature (Chart Data)
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C1 precipitation (Chart Data)
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Snow {cm) & SWE (mm)

C1 Accumulated Snowfall and Snow Water Equivalent / Air Temperature
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Can you interpret the Accumulation

Graphs in terms of snowpack layers
developing with time?
Rotate counterclockwise so early dates
are the bottom of pack, and snow
accumulates upwards.
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At the same time what does the temperature
record say about metamorphosis of the pack?
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TK
Text Box
Can you interpret the Accumulation Graphs in terms of snowpack layers developing with time?
Rotate counterclockwise so early dates are the bottom of pack, and snow accumulates upwards.

TK
Text Box
At the same time what does the temperature record say about metamorphosis of the pack?


Snow {cm) & SWE (mm)

C1 Accumulated Snowfall and Snow Water Equivalent / Air Temperature
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Layer IV?

layer z=Tcm
[e=st. From S'WE
ASSUMInG Snow
density 3332 glem3)

25 cm

Do you agree with this interpretation of the
C1 Snowfall and Temperature Record?
- Any correspondence to Snowpit data?

Layer IIT?

Check it out
Mfm Periods of Tair=0C
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Likely periods of Tenow-gradient=10C/1m for pack<40cm

What happened when Tair>0C?
When Tsnow-gradient>10C/1m?
Do you see it in your pit data?
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Do you agree with this interpretation of the
C1 Snowfall and Temperature Record?
- Any correspondence to Snowpit data?  
Check it out
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TK
Text Box
What happened when Tair>0C?
When Tsnow-gradient>10C/1m?
Do you see it in your pit data?
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